This diagram is a simplification of an operating system file system.
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FAT systems differ from NTFS in that it has a 

finite amount of memory (which equates to a limit to the total number of clusters that can be managed).  Therefore as the drive got bigger the clusters in turn became larger approaching 64kb.  A larger cluster increases the amount of slack in the drive reducing the efficiency.
NTFS differs from FAT in that it has 4kb clusters and it stores additional security data in the file header enabling tighter security and recoverability.  This is known as a Journaling File System.  You may see the terms Sector or Block, these are the same and are the unformatted units all hard drives have before a file system is impressed over them.
A defragmented file.





7 Clusters = 28KB





NTFS minimum allocation unit


8 x 512byte  blocks = 4096 bytes = 4kB = 1 cluster





Clusters (min allocation units) here showing the 512 byte blocks/sectors within.





Slack – Unusable space within a Cluster where a file doesn’t fill the min allocation unit





File system directory (Master File Table in NTFS)  Holds records for the files on the drive indicating starting cluster, deleted (or not), file size.





A 160GB drive typically holds >250000 files and has ~ 10 Million clusters





Files have an EOF marker indicated the End Of File





Why do you suppose the file directory & the most important files are located nearer the centre of the drive platter?








